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6 96. = 6 96

1 + + 1

I+ + 1 1

509. + 840. + 853 = 22Q.
69. + 22Q. = 288.
288 .+ 10 = 2 90.
29. + 30 + 30 = 3 50.
No. 9 No. 15
288.+ 05 - 350. = 548.
10 + 04 = 14
= 14
145 + 249. + 309
120. = 198.
50 + 426 + 62
58. + 927. + 285
1 85. = 2512.
199. + 252. = 4571,
4571 .+ 10 = 4 60.
457T.+ 05 - 460. = 85172.
10 + 10 = 20
10 + 10 + 100 = 1 20.
20 + 1 20. = 1 40.
19. + 25 + 105 = 3 25.
70 + 155 + 05
55 + 05 + 10
50 = 3 50.
325 + 350 = 6 75.
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(10m

430

(DL3) L=360 @O0

(DL3) 3

300

300

(21-8-)25BB

V= 0.34 x 0.01

W ( 06 & 5000+ 1000 x 3.00

= 4767 kg

1000

4767




(10m

430

(D13) L=360 @00

(DL3) 3
300
390
L= 1000 1000
300
V= 0.3 x 0.31 x 1000 = 0.65 8 0 .65
(21-8-)25BB
W ( 06. % 5000+ 1000 x 3. 00
x 0.899 = 4767 kg 4767




(No. 2B
AL = 3200x .05 = 1600
(No. 33
A2 = 0.53 x .05 = 0.8
(No. 3%
A = 2800x .05 = 4200
58
A = 1600+ .81 + 420. = 5881




(10mz2

(21- 8 - 2)5
t =1n® c

(¢ 6 mm, 15

V= 1000 x
BB
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t =1n® c

(VP50

(200x 2P

V=1000
5SBB

N= .76

A= .05

A~ 1000
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L= .33
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(NO. 44+2)0. 0
As L = 5.00 5
t=15cm
(No. 30, NO. 3%, NO. 42
L = 0.4 + 2.04 + 0.08 = 3 .06 4
t=15cm
(NO. 44+2)0. 0
A = 0.01 x 5.00 = 0.05
As
t=10cm 05
L1 = 1603 = 1603
Vi =1603x 0.3 x 0.01 = 0 .07
L2 = 6.0 + 5.06 + 1800= 2906
V2 =2906x 0.3 x 0.31 = 1.56
Co , U 2
L3 = 3.05
\3 = 3.05 x 0.20 = 0.70
NO. 30, No. 34, No. 2
AV = 0.20 + 0.00+ 0. Q0= 0.30
>V = 0.07 + 1.5 + 0.70
+ 0. 03 = 2.54
As
\Y = 0.05 x 0.50 = 0.30
As 0.30
Co (V4)
Co \Y = 0.30 0 30
«( )
Co (V1+V2+V3)
Co \Y = 2.24




\Y .30
As 0.30
Co
.30
Co 0.30
Co
.24
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L1 = 50 + 1 05. 1 55.

16
2L = 155 1 55.
L1 = 15 + 1280. 148.
L2 = 200 + 2 85, 4 85. 19
L =148.+ 485 1980.




10 m
U 4 kg 8l
U 4 kg 1 7k 1 430
1 m
6 m
4 m
t= 1lch 5
1
2 m

8 00L7 PO 8 (
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